| dE/dx estimator 1 |

0.3F

0.25

0.2

0.15

0.1

o

o

a1
I

..............................................

Entries
Mean
Std Dev

266505
2.35
1.503

Entries
Mean
Std Dev

266429
2.349
1.503

| dE/dx estimator 2 |

0.3F

0.25

..................................

Entries
Mean
Std Dev

266505
2.194
1.426

Entries
Mean

266429

.....................................................

=
TT T T T T 1T

Lol |t L. n L L

-+

1 2 3 45 6 7 8 9

10

0.2

0.15

0.1

0.05

Std Dev

.....................................................

FRVA)

.

=
TT T T T T 1T
Py

0.95

12

o

3 45 6 7 8 9 10

=—=— DQM_TT__mkFit-DQM_init_orig

=—e— DQM_TT__mkFit-DQM_init_mod

0.2}

0.15}

0.05H

+*| Entries
¢ | Mean
i [ Std Dev

.....................................................................

i [ Mean
: |_Std Dev

CTTITeS TUIUT

6.474
5.591

266429
6.473
5.592

T TuTeS

0.7k

0.6}

| Mean

Std Dev

0.7265

266505
0.3762

| Entries
'l Mean
. [ Std Dev

266429

0.7265

0.3761

TRva].

TF P T -

T

[

k-

0.95%

i

r
» ¢
ad

% 10 20 30 40 50

60

0.4

0.2}

0.1

o

T .-

......................................................

TRYA)

Sl ) I A o e i i il

k-
i

0.95

o

10 20 30 40 50 60 70 80



	Contents
	Page 1


